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THE ONLINE DISTRIBUTOR GF ELECTRONIC COMPONENTS

DGeneSiC’

SEMICONDUCTOR

1N6097 thru 1IN6098R

Silicon Power
Schottky Diode

Features
* High Surge Capability
* Types up to 40V Vggu

Maximum ratings, at T;= 25 °C, unless otherwise specified

Ve =30V - 40 V
I =50 A

DO-5 Package

("R" devices have leads reversed)

Parameter Symbol Conditions 1N6097 (R) 1N6098 (R) Unit
Repetitive peak reverse voltage  Vrrm 30 40 V
RMS reverse voltage Viems 21 28 \Y
DC blocking voltage Vpe 30 40 \Y,
Continuous forward current 13 Tc<100°C 50 50 A
Surge non-repetitive forward A, _

| Tc=25°C,1,=8.3
current, Half Sine Wave F.SM c L ms 400 400 A
Operating temperature T -65 to 150 -65 to 150 °C
Storage temperature Tsig -65t0 175 -65to0 175 °C
Electrical characteristics, at Tj = 25 °C, unless otherwise specified
Parameter Symbol Conditions 1IN6097 (R) 1N6098 (R) Unit
Diode forward voltage Ve l[r=50A,T;=25°C 0.7 0.7 \Y
R ) | Vg=30V,T;=25°C 5 5 A
everse curren R Ve=30V, T,= 125 °C 250 250 m

Thermal characteristics
Thermal resistance, junction - Ric 10 10 /W
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Figure .2-Forward Derating Curve
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